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(1) A-LB-II C-II, D-IV
(2) A-IV, B, C-II, D-III
w3/ A-II B, CIL D-IV
(4) A-II B-I, C-I, D-IV
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I'rom the following identify the p y

activities:

A.  Tishing

B.  Weaving

C. Agriculture

D. Mining

5. Banking

Choose the correct answer from the

options given below:
(1) B, E, Conly
(2) D, E, Aonly
(3) A, C,Donly
(4) C, A, Bonly

List-I List-II
A. Candle I. Electrical
energy to
light energy
B. Bulb II. Mechanical to
sound energy
C. Guitar ITI. Chemical
energy to
light energy
D. Loud speaker IV. Electrical
energy to

sound energy

Choose the most appropriate answer from
the options given below:

(1) A-L B-II, C-II, D-IV

(2) A-IV, B C-II, D-III

(3) A-II, B-1, C-II, D-IV

(4) A-II, B-IL, C-I, D-IV
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(1) A-1, B-II, C-I11, D-IV
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Match List I with List IT

A.
B.
C.
D.

List I List IT
Organisations Headquarters
NATO I. Vienna
SAARC II. Lyons
INTERPOLE III. Kathmandu
OPEC IV. Brussels

Choose the most appropriate answer from
the options given below:

(D)
)
3)
(4)

A-1, B-II, C-TII, D-IV
A-III, B-1V, C-1, D-II
A-1V, B-111, C-II, D-1
A-I, B-I, C-IV, D-III

‘AEPS’ stands for:

(1)
)
©)
(4)

Asian Environmental Protection
Strategy

African Environmental Protection
Strategy

Arab Environmental Protection
Strategy

Arctic Environmental Protection
Strategy

Find the missing character from among
the given alternatives:

(1
)
3)
(4)
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3240
860

1140
2880
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rritory has highest

: ale/union te '
Which state/un nccnr(hng

i ) km)
population density (per 89

{0 2011 census?

(1)  Delhi

(2) Kerala

(3) Uttar Pradesh

(4)  Chandigarh

Which State has highest FHuman

Development Index (HDI) value, as
according to the Indian National Human

Development Report, 20117

(1) Goa

(2) Punjab
(3) Kerala
(4) Delhi

From the following identify the acts that
violate the criminal law?

A, Theft

B.  Rent matters

C. Divorce cases

D. Murder
Harassment

Choose the correct answer from the
options given below:

(1) B, C,Eonly
(2) A B, Conly
(3) A, D,Eonly
(4) D,E,Bonly
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(2) UERT e WS 3 e g (2) Powering Urban Amenities in
Remote Areas
3) B ICIHEI G e = e i (3) Providing Urban Amenities in
Remote Areas
\_,(Aa/maﬁ:ﬂ IRE WIS 7 ®/a I (4) Powering Urban Amenities in Rural
Areas
13. ‘TUFHA SH-F AT T & Hl 13. ‘Pradhan Mantri Jan-Dhan Yojna’ was
s off| launched in
(1) 2011 (1) 2011
(2) 2012 (2) 2012
3 2014 (3) 2014
(4) 2013 (4) 2013
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(1) Sad A, B,D,E
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“Peadhan Mantri Garib Kalyan Annn

Yojana" was lnunched in the yenr

(1) 2014
(2 2006
(1) 2010
(1) 2020

What is the main reason for rainfall in
North India during winter?

()  Advancing Monsoon
(2)  Waestern Disturbances
(3) Kaal Baisakhee

(4)  All of the above

Pre-Monsoon showers that help in early
ripening of mangoes are known as
‘Mango Showers’. They occur in

(1) Rajasthan and Gujarat

(2) Uttar Pradesh and Bihar
(3) West Bengal and Assam
(4) Kerala and Karnataka

Pick the correct number of SDGs

(Sustainable Development Goals), as
stated by UNO ‘

(1 12
@ 17
3 16
4) 13-

Which of the following are Indian
Satellites?

A.  INSAT

B. KALPANA-I
C. 1IRS

D. SPUTNIK-I
E. EDUSAT

Choose the most appropriate answer from
the options given below:

(1) A, B,D,Eonly
(2) B, A E, Conly
(3) A, B, C, Eonly
(4) B,C,D,Eonly
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The Mughal style of miniature painting 18
an amalgamation of indigenous themes
and fl,',yl(!,'l :1](,[‘“ v/i'/h e
themes and styles,

(1) Persian and Later Furopean
(2) Persian

(3)  Arabic and African

(1) Persian and African

A layer of warmer air may he above 2
layer of cooler air at the Earth’s surface.

~This is called

(1) Enthalpy

(2) 'Thermal conversion
(3) Thermal inversion
(4) All of the above

The preservation of species outside their
natural habitats is called

(1) Ex-situ conservation
(2) In-situ conservation
(3) Complex conservation

(4) (1) and (2) both

List-I List-II
A. Hydro sphere I. Radio waves
and X-rays

B. Lithosphere II. Soil and Rocks
C. Radiant III. Ground water/

Energy surface water
D. Thermal IV. Heat

Energy

Choose the most appropriate answer from
the options given below:

(1) A1, B, C-I, D-IV

(2) A-1vV, B-II, C-1I, D-I

(3) AL B, C-1V, D-III

(4) A-1,B-I, C-III, D-IV
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['rom the following, identify the maip

leaders of the Revolt of 18567

A.  dyotirao Phule

B.  Rani Lakshmi Bai
C. Birsa Munda

D. Tantia Tope

. Nanasaheb
Choose the correct answer from the
options given below:

(1) A, B,Conly

(20 B, C,Donly

3) C,D,E only

(4 B,D,Eonly

Identify the earliest temple found in

India from the following:

(1) Lingaraj Temple

(2) Jagannath Temple

(3) Rajarajeshwara Temple

(4) Dashavatar Temple

Which among the following is the correct
combination of official languages of the
UN?

(1) English, French and Italian

(2) English, Spanish and German

(8) French, English and German

(4) English, French and Spanish
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(1) 3,36,480%.
(2) 3,38,000%.
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wo numbers m and n such

There are t
n factor is opg

that their highest commo
Then
A. Bothm and n may be prime.

B. One number may be prime and the
other composite.

C.  Both the numbers have exactly twq
common factors.

D. Both numbers are co-prime to each

other.
Choose the correct answer from the

options given below :
(1) B, C,Donly
(2) A, C,Donly
(3) A, B,Donly
(4) A, B, Conly

The number of ways in which four boys
and four girls sit alternatively in a row,

1S:

(1) 576
(2) 2304
(3) 1152
(4) 864

The cost of a diamond varies directly as
the square of its weight. A diamond broke
into four pieces with their weights in the
ratio of 1: 8 : 4 : 5. If the loss in the total
value of the diamond was Rs. 2,36,000,
then what was the price of original
diamond?

(1) Rs. 3,36,480
(2) Rs. 3,38,000
(3) Rs. 3,80,000
(4) Rs. 3,42,000
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6800 . 3 wmw gl Faf¥ra gmafy w27
(1) 1,50,000%.
(2) 1,20,000%.
(3) 1,25,000%.

(4) 1,70,000%.
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(1) 10,500 %.

(2) 17,000 %.

(3) 15,000 %.

(4 12,000 %.

(H2 - 13)

In a readymade garment, showroom, the
cost, price of a designer dress B is 10%
more than that of another dress A. The
dresses A and B were marked up by 40%
and 20% respectively. The dress A was
sold at a discount of 4% and dress B was
sold at a discount of 5%. If the selling
price of dress A was Ra. 209.25 more than}
the selling price of dress B, then what
was the cost price of dress A?

(1) Rs. 2,075
(2) Rs. 2,475
(3) Rs. 2,325
(4) Rs. 2,025

An amount was invested at simple
interest at a certain rate of interest for
4 years. Had it been put at 1% higher
rate, it would have fetched Rs. 6,800
more. The invested amount was:

(1) Rs. 1,50,000
(2) Rs. 1,20,000
(3) Rs. 1,25,000
(4) Rs.1,70,000

Mr. Sharma invested a certain amount
for in a financial company at 10% rate of
interest per annum, compounded
annually for two years. He lent out the
interest earned from this scheme to
Mr. Verma at the rate of 3% per annum,
simple interest. After 2 years Mr. Verma
gave Rs. 3,339 to Mr. Sharma as a total
amount of loan and interest, then what
was the actual amount invested by
Mr. Sharma in the financial company?

(1) Rs. 10,500
) Rs. 17,000
3) Rs. 15,000
(4) Rs. 12,000
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ﬁw#mﬁﬁmﬁuﬁmaﬁqmﬁﬂ?
(1) 400%
(2) 800%
(3)  700%
(4)  500%
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(1) 5:16:20
(2) 5:16:14
B) 15:20:16

(4 15:16:20
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58.

If all the dimensions of a cuboid are
increased by 100%, then by what perceng

does the volume by cuboid increase?

(1) 400%

@) 800%
(3)  700%
4)  500%

A, B and C started a business with their
investments in the ratio 1 : 2 : 4. After
6 months, A invested the half amount
more as before and B invested twice the
before, while C(C

amount more as

withdraws (—}I)‘h of his investments.

What is the ratio of their profits at the

end of the year?
(1) 5:16:20
(2) 5:16:14
3) 15:20:16
(4) 15:16:20

A milkman mixes water, in certain
quantity of milk he sells everyday. In
what ratio, he should mix water to the

milk to gain 10% by selling it at the cost

price?

(1) 1:16
(2) 1:10
3 1:20
4 1:15



61.

62.

HANTB

- . - - -
=2 3= Si33L F494 =€ =] 4 == 84 A
” -
T — TN 49d <al &, a8+ YHWiH I9EY
o 38 D o o A
40 52 =i < 8 JF94 JHisH Yg=4dl &) a1 Fid
-~ - - A -
ErlE I 7id M| +2 GETD= W |aA BE4g
—_rrr B9
—=Tidi £ 7
_
(1) 0 ==
o~
(2) 50 ®3
——.___-’L
(3) J) -cC
e
(4) 65 T=-¢
S 0

1

}

:’ ’
b

(1

L
&
()
i
i
A

!
1
1,
5

Y

. »
I E

I}

[

W

a
O

|

mpr
|
o ¢
O =
3))
3

0
U“
mp

8

4 13

ST

2

o
K'g'ou

- -

9 =
2

3 13— <SHI.
(3) =

Al

-2
(4) 112
77z § I & AR By f1 9ei § 1A
fam =1 frome fififa B =1 &aea 4 R

G211 AR E:

(1) 8

2
(3) 4

4

o

|

61.

<)
a— + - 'Y - -
times of his original speed and

q9 - i

Y~ - . F - P 5 p—
reachez his office 40 minutes late. 102
= 4 taks P - -
usual time taken by him to reach office 1=

(1) 70 minutes

(2) 50 minutes
(3) 55 minutes

65 minutes

In right triangle
AC= 5 cm and =
CD 1 AB, then length of CD is:

(1
(&)
3)

@ 7

If 7 is area of triangle formed by joining
mid points of the sides of an equilateral
triangle of size 8 cm, then value of

V211 s
(n 8

(2
3
(4)

o

a0

(H2 - 15)



R (w9 63-65) : R 6 afrw 4 39
AR 1w TR R el gdem A
I TEEET W & WR § IW R qifin w5
Fe A 3R Frevean wfvemm aw fo
el % IR A (qof He)

9 1 15-20 | 21-30 | 31+

17

<1 &

12 14

15

E:
N © N ~= O

T S
Ryl 33 33 68

31 99 A F7 Y F ) wvwe saeanan 3
AT % gl ST Tl o B

(1) 5%
@ 8%
(3) 9%
@) 7%

21 ¥ 30 % o % Feay whiwd o § vt
TR I TA B AT 6T Tl FqE:

(1) 60%
(2 58%

3) 68%
(4) 64%

$ot wfded % foree wfowm 3 Fagd =1 g
qHEI @ SdTn?

(1) 6%
@ 22%
@) 12%
@) 8%

TB

63.

64.

65.

(H2 - 16)

. 63-65) : The table
Directions (Quesmonb)ers of people who

below shows the nuqmurvey about their
sponded to a ¢ le a
nggurite sports. Gtudy the tab nd

» e neares
answer the given questions to th t

whole number (per%}

15-20 | 21-30 31+
/——‘r’-’__%‘
17

Cricket 6 % p
Football 7
Chess 6 12 et
Kabaddi 1 4 | 1
Hockey 2 3 15
Tennis 9 3 4
Basket ball 2 2 2
Total 33 33 68

What percentage of respondents- under
31 years, indicated that Hockey is their
favourite sport?

(1) 5%
2 8%
(3) 9%
@ %

What percentage of peoples aged 21-30

“indicated a favourite sport other than

chess?

(1) 60%
(2) 58%
(3) 68%
4) 64%

What percentage of total sample

indicated that Kabaddi is their favourite
sport?

(1) 6%
2 22%

3) 12%

4 8%



66.

67.

68.

69.
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at A = (P F 30%) + (Q B 60%) 3 | 66.
§ = (P 40%) + (QFH 25%), TE P Q A 7l
3 d 3w ael & gfeend Feifed d @ @
o1 FUT @ 7
(1) d 1>6
2 fffad dt ® H13 frekd 76 febren s
eI
3 A1=6
(4 TT A<0
IR [3x+ 4] = [2x + 5 B A x & A AW | 67.
3 few mu gt it gfd gt e
() T
2 4
(3) 3IFd
@4
p @A 1 Ed pg° IR g wemsi w1 | 68
aﬂﬂﬁqp“"%ﬁ“[(p+q)ﬁ@3ﬁwaﬂlﬁéz
1) pq(p*+q* - pa)
@ pq*(p* +4° + pa)
3 p*q*(p+q-pa)
@ p’q*(p* +4* - pa)
af frdh g B &1 @@ 4ed 9 A 5 | 69.
A Te § 21.25 T AU 21 TG A B
10% % @ T A= T 3R TR B Bl 20%
£ 7l ¥ ¥ mm AR A I B F faed
Ted I Y 2:3 @ Al 9% B H A0T@ A
27
(1) 47.25%.
(2) 26.25%.
(3) 27.25%.
(4) 41.25%.
(H2 - 17)

If 2 = (30% of P) + (60% of @ and
0 = (40% of P) + (256% of @), where P is
greater than @, then in view of the above

information which of the following
statements is correct?

(1) A >0, always.

(2) No conclusion can be drawn with
certainty.

3 A=4.
(4) A <0, always.

If |3x+4|=|2x+5|, then how many
value(s) of x satisfy the given equation?

(1) one

(2) zero
(3) infinite
(4) two

The average of p numbers is pg® and

the average of ¢ numbers is gp®. Then
the average of (p + g) numbers is:

(1) pq(p®+q* - pa)
@ p%a®(p* +q* + pa)
@ p'q*(p+q-pa)

@ p*a*(p* +q* - pa)

The cost price of an article B is Rs. 21.25
more than the cost price of article A. The
article A was sold at a profit of 10% and
article B was sold at loss of 20%. If the
ratio of selling price of A and Bis 2 : 3,
then what is the cost price of article B?

(1) Rs. 47.25
(2) Rs.26.25
(3) Rs.27.25
(4) Rs.41.25



70. Frdt Trsfea &1 3ifka 9o 2,000 %. 21 T§ 20% 70.

3 10% F o1 HF 9 | AN T Bl T
YIAA & W 5% 6 orfafed g & Sl 81l

R JAH F R AR F 56 e B
(1) 1,360%.
(2 1,250 =.
3) 1,368 =.
(4) 1,470%.
71. 3R x+§—=4 g x5+—13— EOR:Cin
227
1
(1) =
257
2
2 .
275
3
3) 5
131
4 Bt ot
(4) 5

7L

79. W€ 52416 H 312 ¥ 9 fe7n Sam & @ WA | 72.

168 37T & <1 52.416 &1 0.0168 ¥ AT S

fepaaT wTReT ST ?

(1)
2
3
4

HANTB

31.20
3.120
312
3120

(H2 - 18)

Marked price of a cycle is Rs. 2,000. It

sells by two successive discounts of 20%

and 10% respectively. On cash payment,

additional 5% discount is also given. On

cash payment the selling price of cycle

would be
(1) Rs. 1,360

(2) Rs. 1,250
(3) Rs. 1,368

(4) Rs. 1,470

If x+i=4, then the value of 355+§1—3
x

is

m =
@ =L
® =
@ =

When 52416 is divided by 312, the
quotient is 168. What will be the quotient
when 52.416 is divided by 0.0168?

(1) 31.20
(2) 3.120
(3) 312

(4) 3120



73. e BEl #1 3@ 9 wEfRg Hifve- | 73
L B §
29
B 2
8
c 32
T4
D. -

T2
i fou T fReedl A @ T@ SW gAY
(1) A<D<B<C
2) C<A<D<B
3) B<C<A<D
(4) A<B<C<D

74. éﬁﬁ%ﬁ%ﬁﬁqﬁmﬁmm%w 74.
w0 gaT 21 AR 38 RF 4 R % 6 e A T
3w T B A 8 wARE s T @ A
2
gaiwmmwwﬁa‘mﬁi@réwm
R B TR ama A T R @ A A R
Sraet @ ST FHAT 87
(1) 40
(2) 32
(3) 48
(4) 45

75. <R T R goEn T F R G A w®m | 75
¥ dem gE FA § MW IS AR FEE
24%@,36@%@,48%@3%60@#@#
@%wm%ma%@ﬁimmﬁaﬁﬁ
fha gHg M ? .

(1) 24 e
2 67
(3) 36 TFE
(4) 12TFE
(H2 - 19)

TY A ANTTVDD

Arrange the given fractions in ascending
order

16

29
B 2
8
o 32
4
p. L
12

Choose the correct answer from the
options given below:

(1) A<D<B<C
(29 C<A<D<B
3 B<C<A<D
(4 A<B<C<D

A tin of desi ghee was g— full of its

capacity. If 6 bottles of ghee were taken
out from this tin and 8 bowls of ghee

2 :
poured into it, then it was 3 full of its

capacity. If bottles capacity is twice of the
bowls capacity, then how many bottles of
ghee can the tin contain?

1) 40
@ 32
(3) 48
4) 45

Four boys start running from the same
point around a circular track and each
one completes one round in 24 second,
36 seconds, 48 seconds and 60 seconds
respectively. After how much time will

they meet at one point?
(1) 24 minutes

(2) 6 minutes
(3) 36 minutes
(4) 12 minutes



76. Identify the correct one word substitution | 79.

for the following definition from the
options provided:
‘A person who makes maps’

(1) Gridwner

(2> Seismographer

(3) Cartographer

(4) Barometrist

80.

77. Spot the error in the following sentence

and mark the correct answer:

He ought (A) / not have done (B) / such a

despicable thing (C) / No error (D)

‘(1) A
2 D
@ C

(47 B

78. Spot the error in the following sentence

and mark the correct answer:

I have seen (A) / that film last year (B) /
but I donot remember its story (C) /
No error (D)
1) A
2 D

(3 C
4 B

HANTB ' (H2 - 20)

81.

Choose the  answer which  mogt

appropriately expresses the meaning of
the given idiom/phrase:

“To meet one’s waterloo’

(1) To meet a strong adversary

(2) To die an ignoble death

lQ)/To meet one’s final defeat

(4) To die fighting

A sentence has been given in the ‘active
voice’. Out of the four alternatives given,
select the one which best expresses the
sentence in the ‘gassive,voieeé—

“Had he worked hard he would have won
the gold medal”.

@/’T‘Be gold medal will have been won

by him had he worked hard

(2) The gold medal will have been won
by him if he worked hard

(\? The goid medal would have been
won by him if he worked hard

(l}b The gold medal would have been
won by him had he worked hard

Find out the correct antonym for the
following word from the options given
below:

OPULENT

(1) Poor

(2) Drooping

(3) Rich

L(A’)/ Sumptuous



82. A sentence has been presented as indireet
speech. Out of the four alternatives choose
the one which correctly expresses the
same sentence in direct speech:

The doctor directed the patient to give up

smoking:

ul/)/'l‘he doctor said to the patient, “Why

don’t you give up smoking?”

(2)/ The doctor said to the patient, “I am
advising you to give up smoking.”

(?}’ The doctor said to the patient, “Give
up smoking.”

(4) The doctor said to the patient, “You

should give up smoking.”

83. Identify the correctly spelt word from the
given options:
09 ENTREPRENEUR
@) ENTERPRENEUR
L3y ENTERPRENURE
“4) ENTREPRENURE

84. Identify the correctly spelt word from the

given options:
Mrberation
(2) Revirberation
(3) Revarberation
(4) Reverberation

HANTB

8h.

86.

(H2 - 21)

Mateh Liat T with Lint 11
[aat-1 [ant-T1
A, Uaing more worda [, Teatotaller
Lthan are needed
B.  One whoobatainag 1, Insolvent
from alcoholic
drinks
(.. One who unable [1].Verbose
to pay debts
D. One who [V. Epicure

appreciates fine

food and drinks

Choose the most appropriate answer from

the options given below:
(1) A-II, B-I, C-IL, D-IV
2 A-I B-III C-IV, D-II

(3) AL B-IV, C-I, D-III

(@A, B-II, C-I1L, D-IV

Identify the correct one word substitution
for the given definition from the options

provided:

‘Juxtaposing contradictory words’

/0y Flegy

(2) Ambiguous
(3) Acronym

Mxymoron



DIRECTIONS (Q 87 - Q 91)

Read the following passage and answer the

questions which follow:

@

(i)

HANTB

New Year is the time for resolutions.
Mentally, least many of us could
compile formidable lists of ‘do’s and
don’ts’. The same old favourites
recur year in and year out with
monotonous regularity. We resolve
to get up early each morning, eat
healthy food, exercise, be nice to

“people whom we don’t like and find

more time for our parents. Past
experience has taught ~us _that
certain accomplishments are beyond
attainment. If we remain deep-
rooted liars, it is only because we
have so often experienced the
frustration that results from failure,
Most of us fail in our efforts at self-
improvement because our schemes
are too ambitious and we never have
time to carry them out. We also
make the fundamental error of
announcing our gsglu/tio/n to
everybody, so that we look even
more foolish when we slip back into
our bad old ways. Aware of these
pitfalls, this year I attempted to
keep my resolutions to myself. I
limited myself to two modest
ambitions, to do physical exercise
every morning and to read more in
the evening. An overnight party on
New Year’s Eve provided me with a
good excuse for not carrying out
either of these new resolutions on
the first day of the year, but on the
second, I applied myself diligently to

the tasi/

(H2 - 22)

(iii) The daily exercise lasted only eleven

minutes and I proposed to do them
early in the morning l)cforc- anyone
had got up. The self-discipline
required to drag myse]f out of bed
eleven minutes earlier than usual
was considerable. Nevertheless, [
managed to creep down into the
living room for two days- befpre
anyone found me out. After jumping
about in the carpet and twisting the
human frame into uncomfortable
positions, I sat down at the
breakfast table in an exhausted
condition. It was this that betrayed
me. The next morning, the entire
family trooped in to watch the
performance. That was really
unsettling, but I fended off the
taunts and jiwm_i'ly
good-humouredly and  soon
everybody got used to the idea.
However, my enthusiasm waned.
The time I spent at exercises
gradually diminished. Little by
little, the eleven minutes fell to zero.
By January 10, I was back to where
I had started from. I argued that if

I spent less time exhausting myself

at exercises in the morning, I would
keep my mind fresh for reading
when I got home from work.
Resisting the hypnotising effect of
television, I sat in my room for a few
evenings with my eyes glued to a
book. One night, however, feeling
cold and lonely, I went downstairs
and sat in front of the television,
pretending to read. That proved to
be my undoing, for I soon got back to
the old bad habit of dozing off in
front of the screen — I still haven’t
given up my resolution to do more
reading. In ?act, I'have just bought a
book entitled ‘How to Read a
Thousand Words a  Minute’.
Perhaps, it will solve my problem,
but I just have not had time to read
it.



87. How did the writer fend off the taunts and
jibes of the whole family?
(1) Sadly
(2) Intensely
(3) Arrogantly

Mood humouredly

88. Which of the following means the same as
‘not changing and therefore boring’?
(1) Formidable
(2) Attainment

M Resolution

(4) Monotonous

89. What dragged the writer to get out of the
bed eleven minutes earlier than usual?
(1) New Year’s Eve
((2>—Self discipline
(3) Past experiences
(4) Failure

90. Why do most of us fail in our attempts at
self-improvement?
(1) Because the same old favourites
recur year in and year out
(2) Because our schemes are too

ambitious and we never have to time .

to carry them out
(/(Z{ Because we always slip back to our

bad old way
(4) Because certain accomplishments
are beyond attainment

91. What were the writer’s resolutions?
(1) Do Physical exercise in the morning
(2) Read more in the evening
((3Y—Both (1) and (2)

(4) Not to make more resolutions

HANTB

92. In the following question, out of the given
alternatives, chooge the one which is most
nearly the same in meaning to the

underlined word in the sentence:
Sporadic rise in his body temperature has
caused us much worry.
(1) Trequent
(2) Scattered
A3y Irregular

(4) Irksome

93. In the following sentence, fill in the blank
with the most appropriate verb form from
the given alternatives to make a present

perfect continuous tense:
He in the same class for the

last three years (study).

(1) Has been studying

(2) Had been studying
Had studied

(4) Has studied

94. The following sentence is jumbled. Choose
the correct sequence of sections A, B, C,
and D to frame a correct sentence from the
options provided.
from different walks of life as on human
rights (A) / so much is written by so many
persons (B) / there are very few subjects in
©)/ éontemporarv times on which (D)

Choose the correct answer from the

options given below:

(1) ACDB
(2 CDBA
(3) CABD

MAB

(H2 - 23)
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J.

Which of the phrases given below should
replace the underlined phrases in the
following questions in order f{o make a
grammatically correct sentence? If there is
no improvement needed to correct the
sentence, select the relevant, oipt;i;);.‘

Seeing that she is very tired, T walked out
of the room and let her sleep.

(1)  Seeing that she is very tired

o improvement needed
(3) Seeing that she were very tired
(4) Seeing that she was very tired

DIRECTIONS (Q 96 - Q 100)

In the following passage some of the words
have been omitted. Read the passage
carefully and choose the correct answer to
each question out of the four alternatives:

Technology is the technical (96)
people use to (97) __ their
surroundings. It also means knowledge of
using tools and machines to do tasks
(98) We wuse technology to
control the world in which we live.
Technology is people using knowledge,
tools and systems to make their
lives easier and better. People use
technology to refine their ability to do
work. (99) technology, people
communicate better. Technology allows
them to make more and better products.
Our buildings are better through the use
of technology. We travel in more

comfort and speed as a (100) of
technology. Yes, technology is everywhere

and can make life better.

96. d),)/(lﬂtn

(2) means
(3) sound
(4) manpower
97. (1) relate
(2) grow
1(8)/improve
capture
98. (1) locally
(2) vaguely
uﬁ)/ efficiently
(4) centrally

(2) Although
(3) Since
(4) Without

100. Murce

(2) precursor
(3) matter
(4) result

(H2 - 24)
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